p /;l? 5 (@ YeThIpe APOOH, IECATUUHBIE APOOH, TOPSIOK
s oreparuii co CKoOKamu

Nwms: Jara: Orenka:

(2,9+l)><3—5,6= 45- 3451
2 6

20(3,9+§)+5><4—%= 2,5><25+5+4(%—é)=
(5,7+§)><3+3,9= 4’1x16+4+3(%—§):
(3,9—%)x5—§= %+4(5+3,8)=
%x20+4+2(%—%)= (%+%)x3—3=

www.snowmath.com


https://www.snowmath.com

p {j? 5 (@ YeThIpe APOOH, IECATUUHBIE APOOH, TOPSIOK
s oreparuii co CKoOKamu

Nwms: Jara: Orenka:

(2,9+%)><3—5,6=25—3=4% (4,5—é)x3+5,1=%:18%
20(3,9+§)+5><4—%=4Z£=72% 2,5><25+5+4(%—é)=%3=13§
(5,7+§)x3+3,9=23 4,1><16+4+3(%—%)=%=15%
(3,9——)><5—§=43—9=16% %+4(5+3,8)=31%=351—70
%x20+4+2(%—%)=§=2% (%+%)x3—3=%=1%
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